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transform 1

e translate

e rotate



translate

translateX(10px)

translate(10px)
o LEFOZ 10px &L|Ct.
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translateY (10px)
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translate(10px, 10px)
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rotate
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e rotate(45deg)
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transform

e transform: translate(40px) rotate(40deQ)

e transform: rotate(40deq) translate(40px)



transform-origin
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e default: 50% 50%;

https://codepen.io/daybrush/pen/wmxjNG
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<div class="cloud">
<div class="cloud">
<div class="cloud"></div>
</div>
</div>
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.cloud:before {
content: "";
position: absolute;
background: inherit;
border-radius: inherit;
z—-index: 1;
width: 100%;
height: 100%;
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